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Concepts of International Trade M.C.Qs (Total Marks 70)

No. of Questions: 70 (from 1 to 70) 1 Mark Each Time: 70 Minutes
Questions on Page Numbers: 1 To 17 Negative Markings: No

1. Pakistan is relatively abundant in labour, while Canada is relatively abundant in capital. In both countries
the production of shirts is relatively more labour intensive than the production of computers. According
to the factor endowment theory, Pakistan will have a(n)

A. Absolut advantage in production of shirts and computers.
B. Absolute advantage in production of computers

C.
D.

Comparative advantage in production of shirts.
Comparative advantage in production of computers.

2. Which of the following is one of the conclusions of New Trade Theory?

A

Countries as a while must gain from trade.

B. A country can only hurt itself by using government policies ., promcte exports.

C.

Consumers gain from the increased variety of goods that .rade mzi-ws available

D. A country may export a good or import it, bv" not bot..

3. According to Ricardo, a country will have 2 compai :tive ad: ¢ntage in:

A
B.
C.
D.

Industries in which there are neith2r impcris nor exhurts
Import competing industries

Industries that sell to domestic and {=.eign k:yers
Industries that sell to only forei¢a buyers

4. Specialization, according to *ie therry of absolute advantage, enables countries to increase their
efficiency for all of the follawving reazons except:

OO WP

labor can become rore skiied by repeating the same tasks

developing countries rzauce their dependence on former colonizing countries

labor does not lose ¢ we by switching from the production of one kind of product to another
long production runs provide incentives for the development of more effective working methods

5. Which of the following is false regarding the limitations of the Porter Diamond in explaining countries’
competitive advantage?

A

B.

The existence of the four favorable conditions does not guarantee that an industry will develop in a
given locale.

Companies in a country with favorable conditions may not try to compete in some industries because
they prefer to specialize in the production of other products.

A limitation of the Porter diamond concerns the increased ability of companies to gain market
information, production factors, and supplies from abroad.

The absence of any of the four conditions from the Porter diamond domestically will prevent
companies and industries from becoming globally competitive.

(Go on to the next page) Page | 1
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Years Export-GDP ratio Import-GDP ratio Trade balance-GDP ratio
1990 148 203 =55
1991 17.0 186 -16
1992 174 205 =32
1993 16.3 224 —-6.1
1994 16.3 19.0 -28
1995 16.7 194 =27
1996 169 214 —45
1997 16.1 20.8 -4.7
1998 16.5 175 -1.0
1999 154 17.0 -16
2000 134 147 -12
2001 147 15.7 -11
2002 15.2 153 -0.1
2003 16.7 16.1 0.6
2004 15.7 146 1.0
2005 15.7 196 -39
2006 15.2 25 -80
2007 142 1.3 -72
2008 129 239 -11.0
2009 124 192 -73
2010 135 Ve -58
2011 140 19.0 -5.0
2012 124 204 -80
2013 133 20.1 —6.8
2014 123 187 —64
2015 109 171 —-6.2

6. Exports of a country are c:isidere to be a main pillar of the economy, a source of earnings and foreign
exchange, employmern opport.ities and ability to achieve strong and sustainable growth for a country.
The table above shows trade ; crformance of Pakistan from 1990 to 2015. Based on the table above which
of the statement below ca be inferred?

A. Only in early 2000s, Pakistan’s export performance has been favorable, registering an average growth
of 16.7 per cent per annum on the back of strong macroeconomic policies pursued at home and a
favorable international trading environment.

B. The export to gross domestic product (GDP) ratio from 2000 to 2003 is increasing continuously,
whereas it is decreasing after 2003. As far as trade balance to GDP ratio is concerned, trade deficit
also declined during that period; it became surplus in 2003 and 2004.

C. During 2000 till 2003 export to GDP ratio showed decreasing trend and trade deficit became wider.
Rising domestic demand due to strong economic growth increased the level of investment, which
ultimately increased the country’s demand for capital goods and machinery imports.

D. The export to gross domestic product (GDP) ratio from 2000 to 2005 is increasing continuously. As

far as trade balance to GDP ratio is concerned, trade deficit also declined during that period; it became
surplus in 2003 and 2004

(Go on to the next page) Page | 2
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7. The figure above explains the rapid and substantial growth of Pakistan’s t al exports values to South
Asia and China over eight-year span, after establishment of South Asian.vee Tra 't Area (SAFTA) and
bilateral FTA with China. Which of the statements below can be dedu:.ced from tne figure above?

A. Pakistan’s export in terms of values with other PT As like Sr+ Lanka (T. K A), Iran (IRN) and Malaysia
(MY'S) shows slower growth than export with SA=TA and China

B. Textile and clothing export to Iran, Malaysia a.1d Maui::tius shcins decline during the period of study,
whereas for Sri Lanka, it displays increas:ag trend. Conver. Ziy, total export value to Mauritius has
shown no development; even it declins:in later 2eriod.

C. Cotton and clothing export to Iran, Maiaysia aid Sri L-uika shows decline during the period of study,
whereas for Mauritius, it displays increasing trennt ‘Zonversely, total export value to Sri Lanka has
shown no development; even it declinzz in later .-eriod.

D. Textile export to Sri Lanka, Malzsia and Niauritius shows decline during the period of study,
whereas for Iran, it displays incr>zsing trena. Conversely, total export value to Mauritius has shown
no development; even it decliiies in late period.

8. A tariff that prohibits impoits has o'y

a revenue effect and redis*:bution effect
revenue effect and protection effect
consumption effect and protection effect
redistribution effect and consumption effect

OO WP

9. Pakistan is the 68th largest export economy in the world and the 98th most complex economy according
to the Economic Complexity Index (ECI). In 2017, Pakistan exported $24.8B and imported $55.6B. The
major export partners of Pakistan include

USA, UAE, China, UK
USA, ltaly, South Korea

UK, China, Canada, Morocco
China, USA, UAE, Kuwait

COw>
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Pakistan exports primary products such as fruits (Kinnows, Mangoes, etc.), rice, and vegetables. Because
supply and demand conditions for primary products are very price inelastic, their prices

A. have been steadily rising in recent decades
B. have been more stable than the prices of manufactured goods
C. fluctuate about as much as the prices of manufactured goods
D. tend to be very unstable from year to year

Currently, Pakistan is pursuing Export-led growth following footsteps of economies like Kuwait and
Singapore. Export-led growth strategies tend to emphasize

A. resource allocation based on the principle of absolute advantage

B. resource allocation based on the principle of comparative ad\vcitage
C. trade protection for import-competing firms

D. trade protection for exporting-competing firms

Developing countries like Pakistan that e::.phasize ie prod :ction of raw materials such as cotton or
agricultural goods such as rice may rez!:ze a loig-run d=mrioration in the international terms of trade
because of

relatively low import tariffc ‘naintaiii«.d by ad -anced countries
highly elastic demand for these r:cducts 'a advanced countries
declines in the supplies of thes- produc:s on world markets
sluggish demand for these :roducts ii advanced countries

OO WP

Pakistani Rupee has dopreciated against US Dollar. Economic theory predicts that a currency
depreciation will least lead to m. improvement in the home country’s trade balance when:

home demana for imourts is inelastic and foreign export demand is inelastic
home demand for :miports is elastic and foreign export demand is inelastic
home demand *ar imports is inelastic and foreign export demand is elastic
home demand for imports is elastic and foreign export demand is elastic

OO WP

Export growth in Pakistan has been hampered by the high cost of doing business in Pakistan. Exporters
in Pakistan are facing stringent competition from Bangladesh, India and Vietnam. What are the plausible
causes for high cost of doing business in Pakistan?

A. Hyperinflation, rising energy prices and high taxes

B. High inflation and interest rate, rising energy prices and adverse security situation
C. No support from government and extensive competition from abroad

D. Devaluation in major importing partners of Pakistan resulting in cheaper imports

Which sectors have showed positive growth in exports during first six months of the fiscal year 2017-
18?

Textile, Agro & Food, Engineering goods, Mineral & Metal

Textile and Services

Manufacturing and Services

Agro & Food, Mineral & Metal

COow>
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16. According to Pakistan Bureau of Statistics, leather industry ranks the biggest export-
oriented industry of the country and its share in world leather trade is almost 1%. Leather exports from
Pakistan can be categorized under broad categories:

A. First; Six

B. Second; Six
C. Second, Five
D. Third; Five

17. Consider the following three statements
I.  Pakistan is the only country in South Asia that experienced a negative growth in exports for the
last three years.
Il.  Regional competitors namely India, China and Banglaczsh ha\: positive growth in exports for
the last three years.
1. Regional competitors China and Bangladesh hawv: positive growth in exports, while India have
experienced a decline in exports during the le<% tnree veais.
Which of the following is correct?
A. Statement | and Il
B. Statement | and Il
C. Statement 111 only
D. None of the above

18. The leather and leather made-ur: indust~ plays a significant role in the economy of Pakistan and its
share in Gross Domestic Prod:i.c (GDP; 3 . Industry experts revealed that Pakistan is leading
in leather technology, and anality wice our leather is at number.

A. 4 percent, Second
B. 5 Percent, Thir:
C. 4 percent, Third
D. 5 percent, Second

19. Pakistan is the largest exporter of textile commodities in Asia and textile sector contributes
to the GDP of Pakistan. The total textile sector exports reached billion value
wise in 2017-18.

Eighth, 8.5%, $7.72
Third, 8.5%, $10.72
Fifth, 10.4%, $10.72
Eighth, 10.4%, $7.72

OO WP

20. Being the largest cotton producer, Pakistan has the spinning
capacity in Asia after . The significance of the textile sector can be
measured from its contribution to the total GDP of the country which stands at about

Fourth, third largest, China and India, 8.0%
Fourth, second largest, China and India, 7.0%
Fourth, third largest, China and Bangladesh, 8.0%
Fourth, third largest, India and Bangladesh, 7.0%

OO WP
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21. What is the most common ignored takeaway from trade shows and business conferences?

a. Free Samples
b. Information
c. Education

d. Networking

22. According to the Global Travel and Tourism Report 2017 by the World Economic Forum, Pakistan
ranked most unsafe country for tourists?

A. 1St
B. 2™
C. 3rd
D. 4"

23. When exporting some common pitfalls include:

A. failure to use an export management company

B. failure to print service, sales, and warranty messages *:1 local !=2guages

C. chasing orders around the world instead ¢’ establizing a bzs:s for profitable operations and orderly
growth

D. all of the above

24. From the viewpoint of the foreign investcr, which )7 the following is a disadvantage associated with
investment in Pakistan?

A. Poorly skilled workers

B. Weak protection of intell= wual property
C. Small consumer marke.cs

D. Slow economic graan

25. Which industrialization po''cy have developing countries such as Pakistan used which places emphasis
on the comparative adva:itage principle as a guide to resource allocation:

export promotion

import promotion

international commodity agreements
multilateral contracts

COow>

26. Concerning economic sanctions, export embargo induces greater losses in consumer surplus for the target
country the:

lesser it initial dependence on foreign produce goods.
more elastic the target country demand schedule
greater then available output from alternative suppliers
more in elastic the target country supply schedule

COw>

(Go on to the next page) Page | 6



217.

28.

29.

30.

31.

ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER

To help developing nations strengthen their international competitiveness many industrial nations have
granted non-reciprocal tariff reductions to developing nations under the

A. international commodity agreements program
B. multilateral contract program

C. generalized system of preferences program
D. export-led growth program

The campaign, initiated from Great Britain and also cover Europe and Gulf countries, is aimed at
convincing overseas Pakistanis buy ‘Pakistan Banao Certificates’, (PBC) which is a
denominated retail instrument for expats offering attractive incentives.

A. US dollar, retail

B. Euro, retail

C. US dollar, wholesale
D. Euro, Wholesale

The is an international trade fair and congress for chentizals, dy<c and pigments.

A. TEXPO
B. POGEE
C. ICADEX
D. IFTECH

Health Asia International Exhibition & Cec:ierences incorporating Pharma Asia International Exhibition
& Conferences is the biggest annual heaiin & ph>ymaceutical industry event of Pakistan. The conference
is held in which city/cities of Pakistc.:?

i. Karachi
ii. Lahore
iii. Islamabad

A i

B. ii

C. iandii

D. all of the above

“Most-Favored-Nation” (“MFN”) treatment — requires Members to accord the most favorable tariff
and regulatory treatment given to the product of any one Member at the time of import or export of “like
products” to all other Members. This is a bedrock principle of the WTO. Under the MFN rule, if WTO
Member A agrees in negotiations with country B, which need not be a WTO Member, to reduce the
tariff on product X to five percent, this same “tariff rate” must also apply to all other WTO Members as
well. While MNF status helps smaller countries in gaining access to larger markets, reduce cost of
exports, and benefit from economies of scale, it

Leaves infant industries vulnerable and exposes economy to dumping practices
Fails to reduce ill effects of trade protectionism

does not encourage competition

Increases red tape and associate costs

OO WP
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A strategic trade policy involves promoting:

A. self-sufficiency in production of military equipment.

B. development of industries that are competitive in export markets.
C. favorable balances of trade for political reasons.

D. less dependence on commaodities for export earnings.

Which of the following statements is false regarding strategic trade policy?

A. A country may target an industry for which global demand never reaches expectations.

B. There has been a tendency for too many countries to identify the same industries, so excessive
competition has led to inadequate returns.

C. When relative conditions change in an industry, relative capabilities change as well.

D. It has usually resulted in significantly large payoffs.

A tariff that prohibits imports has only

A. arevenue effect and redistribution effec

B. revenue effect and protection effect

C. consumption effect and protectini: effect

D. redistribution effect and cons'i x.ption eriact

Suppose that the domestic governme:«. allows « specific number of goods to be imported each year, but
it does not specify from where th~ ;sroduct i shipped or who is permitted to import. Such a trade barrier
is known as

an import tariff

a tariff-rate quote
a selective qun.
a global quota

OO WP

Incoterms’ or Ints zational Commercial Terms, first published in 1936, are a set of 11 rules defining
who’s responsible for what during international transactions. Incoterms defines DAT as 'Delivered at
Terminal'. All of the below but one is not a feature of DAT

Seller covers the costs and risk of transporting goods to an agreed terminal
The terminal could be an airport, warehouse, road or container yard

Seller organises customs clearance and unloads the goods at the terminal

It’s the seller’s job to get the goods to the buyer’s carrier at an agreed location

COow>

is said to exist when the formation of a regional trading group leads to the reduction of trade
with nonmember countries in favor of member countries.

trade creation

trade diversion
trade exclusion
trade distortion

COw>
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is said to exist when the formation of a regional trading group leads to an expansion of trade
above pre-group levels.

A. trade creation

B. trade diversion
C. trade exclusion
D. trade distortion

Suppose that tomatoes from India face a 20 percent tariff in the Pakistan and a 25 percent tariff in China.
If the Pakistan and China maintain free trade between each other, then these two countries belong to a

A. free-trade area
B. customs union
C. common market
D. monetary union

The trading community over the globe have created and maintained a svtematic method for the transfer
of documents of the goods in international trade and international ban! :1ig systz<. Which of the following
is not a basic objective of documentation in foreign trade?

to assure that the exporter will receive the payment
to assure that the importer will receive thz joods
to eliminate risk of noncompletion

none of the above

COw>

Documentation in foreign trade is designed ir. _uch a‘» .y to ensure that the exporter will receive payment
and the importer will receive the merchar.ise. Whizh of the following is not an important document in
foreign trade?

A. acheck for the value of gocoas
B. adraft

C. bill of lading

D. a letter of credit

Trade transaction means *i.< activity of buying and selling in between two parties, namely Buyer and
Seller. Below are five si-ps involved in a typical trade transaction. Which step is out of order:

A. exporter agrees to ship under a letter of credit

B. exporter ships the product to the importer

C. importer’s bank issues the letter of credit

D. exporter prepares a 60-day draft on importer in accordance with the letter of credit.

A consular invoice is a document certifying a shipment of goods. Which of the following is not true of a
consular invoice?

A. provides customs officials with all information
B. facilitates easy customs clearance

C. helps customs officials assess duties

D. issued by the consulate of the exporting country

(Go on to the next page) Page | 9
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44. A bill of lading is a legal document issued by a carrier to a shipper that details the type, quantity, and
destination of the goods being carried. If a carrier is instructed to deliver goods to an importer, a
bill of lading is used.

straight
order
on-board
clean

COw>

45. When used in foreign trade, a commercial invoice is a customs document. A commercial invoice is
issued by .

exporter
exporter's bank
importer
importer's bank

COow>

46. Pakistan and the United States kz2jan negotiating o Bilateral Investment Treaty (BIT) in
and closed the texi:n _ but the agreement has not been signed due to
reservations from Pakistani stak=:.olders.

2004, 2012
2003, 2011
2002, 2011
2005, 2012

oOwP

47. Pakistan and the uinited Siies signed a Trade and Investment Framework Agreement (TIFA) in 2003,
which provides a forun: for discussion of bilateral trade issues. The most recent TIFA intercessional
meeting was held ir in June 2017.

New York
Washington
Dubai
Islamabad

OO WP

48. Pakistan has free trade agreements with , and

Sri Lanka, China, Malaysia.

Iran, Sri Lanka, Malaysia
Malaysia, Afghanistan, Bangladesh
China, Iran, Turkey

COow>
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49. The United States and Pakistan have had a bilateral tax treaty in force since . Pakistan also
has double taxation agreements with countries.

A. 1959, 52
B. 1958, 53
C. 1959, 54
D. 1960, 55

50. Pakistan is a member of the Multilateral Investment Guarantee Agency (MIGA), an arm of the

International Monetary Fund
Asian Development Bank
World Bank.

All of the above

DOwP

51. Pakistan is a part of the South Asian Assoc'.::ion for - zgional Zuoperation (SAARC) and has preferential
trade agreements with

Iran and Mauritius.
Bangladesh and Iran

India and Sri Lanka
Afghanistan and Maldives

oOwP

52. How many agreements and I\ ecmorarcums of understanding (MoUs) have signed b/w Pakistan and Saudi
Arabia on Feb 18,2019.

12
;
2
20

oo o

53. On May 16, Pakistan signed an MoU with to promote country’s worldwide exports by SMEs
through e-commerce.

Google
Alibaba Group
BidPay
Amazon

OO WP

54. Why have bilateral agreements between countries proliferated in recent years?

Because they benefit countries more that multilateral agreements

Because they can be negotiated more quickly than multilateral agreements
Because they are preferred by MNEs

Because countries tend to be of equal bargaining power

OO WP

(Go on to the next page) Page | 11
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55. Consider the following four statements about Quartet Agreement of Transit Trade (QATT), which is an
agreement of two CARs (Central Asian Republics) with two emerging economies of the world.

I.  QATT was concluded in 1995 by Pakistan, China, Kazakhstan and Kyrgyzstan,
Il.  QATT was concluded in 1995 by Pakistan, China, Kazakhstan and Turkmenistan
1. QATT is more in favour of Pakistan because Pakistani ports (Gwadar Port, Karachi Port and Port
Qasim) are used for trade and transit.
IV.  QATT is not in favour of Pakistan because Pakistani ports cannot be used for transit, since it does
not connect the countries in question.

Which of the follow is true?

Statement Il and 1V
Statement | and 111
Statement Il and 111
Statement | and IV

OOwP

56. Trade Development Authority Pakistan (TDAP) works wwards 2romotion of export and trade
development in Pakistan. TDAP participates/arranges whicn of the "atlowing?

i. International trade exhi*.xions

i. Send and Receive Tr.ue delegations

iii. Organizes EXPQ “akistan

iv. Arrange bilater=: and m:utilatera: .rade agreements

All of the above
| & 11

L&
& I

COow>

57. Which of the follov:ing belo includes strategic objectives of International Trade Center?

i. Expr .:ier Competitiveness
ii. Jvciusive and Sustainability
iii. Building Awareness
iv. Minimizing Price Distortions in International Markets

A. All of the above
B. L&l

C. 1

D. &IV

58. Which of the following comes under the General category of Trade Support Institutions?

Chamber of Commerce
DEPO

PSEB

PHDEC

OO WP
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59. The balance of payments is an official account of international payments maintained by State Bank of
Pakistan. The current account of the balance of payments is made up of:

60.

61.

62.

63.

A
B.
C.

Trade in goods and services by a country’s businesses.

Current sales overseas for either products or services.

The merchandise trade account and service account plus the profits and interest earned from overseas
assets.

Transactions involving the sale and purchase of assets.

Trade Facilitation Agreement of WTO is projected to reduce trade cost in Asia and Pacific by

COow>

35%
30%
26%
15%

In 1950s Pakistan engaged policies w0 foster industriaiization by establishing high barriers to
imports of foreign goods to promote loca! ;roducti=a

COow>

absolute advantage
comparative advantage
export-led growth
import substitution

Special Economic Zone (£=7) Act i1 Pakistan was promulgated in:

COow>

2011
2012
2016
2017

To become a leading country in the field of export of value-added textile products the Ministry of Textile
promulgated Textile Policy 2014-19. All of the above but one is not amongst the goals set out by the

Textile Policy.

A. To double value-addition from $1billion per million bales to $2 billion per million bales in five years.
B. To double textiles exports from $13 billion per annum to $26 billion per annum in next five years.
C. To improve fiber’s mix in favor of non-cotton i.e. 14% to 30%

D. Set up domestic and single country exhibitions to facilitate exports

(Go on to the next page) Page | 13
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64. Foreign direct investment (FDI) means an individual, a group of individuals, an incorporated or un-
incorporated entity or a public or private company investing its money in other country. What are the
indicators of FDI?

i. Market Size

ii. Skill Level

ii. Availability of Infrastructure
iv. Political Stability

1

1 &I

Y

All of the above

DOwP

65. Pakistan was basically an agricultural economy upon its independence in 1947. Its industrial capacity
was negligible for processing locally produced agricultural raw material. This made it imperative for
succeeding governments to improve the country’s manufacturiy capac:vy. In order to achieve this
objective, however, changing types of industrial policies have S2en imp:<inented in different times with
a changing focus on either the private sector or the public c<.cor. Wi:ich of the statement below is true
regarding policies Pakistan adopted?

A. During the 1960s, government policizs were ai;ned at 2iicouraging the public sector while during
the 1970s, the private sector was 2iven the 'ominari -ule. In the 1980s and 1990s, the public sector
was again assigned a leading ro:..

B. During the 1960s, government p2i-cles wer: aimed at encouraging the private sector while during
the 1970s, the public sector was yiven ti - dominant role. In the 1980s and 1990s, the private sector
was again assigned a leadinaiole.

C. During the 1960s, gewernmenrt yolicies were aimed at encouraging the public sector while during
the 1970s, the privace sectsr was given the dominant role. In 1980s and 1990s Public-Private
partnerships gei-ed morm:itum

D. Between 1960s ar:: 1970, Public sector had a prominent role, while during 1970s and 1980 private
sector gained momentum

66. Till early 1980s, agricultural trade in Pakistan was affected indirectly by manufacturing trade reforms
and currency devaluations. During the Uruguay Round of trade negotiations, Pakistan agreed to liberalize
its agricultural sector. The was one of the most promising agreements, as it was considered to
benefit the developing countries by eliminating market distortions.

A. Agreement on Agriculture
B. GATT
C. TRIPS
D. Antidumping Agreement

(Go on to the next page) Page | 14
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67. Empirical work suggests which policy is most effective in Pakistan in relation to economic growth?

A. Fiscal Policy

B. Monetary Policy
C. Trade Policy

D. Supply side policies

68. The impact of government policy on agricultural incentives is measured by?
i. Effective Rate of Protection

i. Nominal Rate of Protection

iii. Tariffs

iv. Export Revenue

A &Il

B. IV

C. &IV

D. All of the Above

30
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10 |

Percent

-30 F
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= Apriculture == Major Crops =—de— Minor Crops =—se=livestock =—#=Fishery -—@-—Forestry

69. The graph above shows yearly changes to value added (%) by Agricultural Subsector in Pakistan (2004-
11). Which of the statements below can be inferred from the graph above?

changes in value added by subsector have been more pronounced in case of major and minor crops
changes in value added by subsector have been more pronounced in case of livestock

Livestock’s share of agricultural value added increased from 10 percent to 40 percent over this period.
Agricultural growth has been slowing since 2000

OO WP

(Go on to the next page) Page | 15
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70. What is the impact of FDI on Pakistan’s exports and imports?

Inflow of FDI increases imports and reduces exports
Inflow of FDI has no impact on imports or exports
It is uncertain

Inflow of FDI reduces imports

COow>

This is the end of International Trade M.C.Qs.
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Mathematics, Logic and Data Analysis M.C.Qs (Total Marks 60)

Time: 15 Minutes
Negative Markings: No

No. of Questions: 10 (from 71 to 80) 1 Mark Each
Questions on Page Numbers: 18 To 23

71. The table below shows a country's birth rate (number of births per year per 1,000 people), and
death rate (number of deaths per year per 1,000 people). Immigration and emigration are the
number of people in absolute values. A country's population growth is determined by these
four variables mentioned in table below. The lines 1-4 in Figure model the population for the
four countries shown over time.

Birth Death Immigration | Emigration
Country A 20 X 1,000 1,000
Country B 21 21 12,100 Y
Country C 36 24 Z 500
Country D 13 13 82,000 9,600
23 L ~1
g P
L : ~
"4
() C 1 1 1 1 Ly I T T N T T PR T
0 20 40 60 80

I'ime (eurs)
Line 1 represents which country's populaticn?
A. Country A
B. Country B
C. Country D
D. Country C

72. The diagram represents differ-«c comk:tiations of good X and good Y. A consumer prefers
more units of both goods to vewer ;1.5 but prefers, as far as possible, not to give up any of
good Y to obtain more <Y good X

] U
good Y *
T \Y%
w
0 good X

Which combination in the diagram could represent the consumer’s order of preference in
descending order?

A. UTVW

B. UVTW

C. TUVW

D. WVUT

You cannot go back to previous section. Go on to the next page. Page | 18
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73. The diagram shows the Gini coefficient for four countries between 1975 and 2010.

Gini coefficient for Brazil, Mexico, India and China 1975-2010

65
60
55
50
45
40
35
30
25
20

.f-._.‘ \/\/\ /\f—_, \/ \/'_\
N e e, Brazil
......................... e \EXICO
et China
Il 5
. ! M- -=-=India
I \\ ’f-- e
v e amm=mTT e m—
\ - —
_ /_‘::: --------- "’F‘- o . -
- "'--..\ '{
\vi
| | I I | 1 S

Jan 75 Jan 80 Jan 85 Jan 90 Jan 95 Jan 00 !an 05 Jaﬁ 10

Which country made the greatest move towa. us a me+> equal ‘:..ome distribution over the

period?

Cow>»

Brazil
China
India
Mexico

74. The table below shows d¢.a abovut thie number of employees at IBA, a popular business school

in Karachi.
- 12016 2017 2018
Total Employees v 1,670 1,890 2,110
Percent Male 65% 60% 55%
Percent Female 35% 40% 45%

Assuming the employee total grows at the same rate each year, and male and female percentages
continue to decrease and increase by 5%, respectively, approximately how many male employees
will work at IBA in 2019?

COow>

1515
1398
1282
1165

(go on to the next page) Page | 19
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75. The diagram shows selected labour statistics from 2001 to 2014.

300

65

net new jobs 200

monthly average 100

- lll

61

60

59

58

\

I O e B e

(thousands)
0o
-100-
-200
-300
—400
-500
2001 05

10

jear

What can be concluded from the diagram &Lout 20C1-2014?

14

=64 employed as a

{63 percentage of
population aged

62 16 and over

~

A. Employment as a percentage ! the priulation - jed 16 and over declined continuously.
B. In periods when the number of net .:aw jobs vas rising the percentage employed

increased.

C. The natural rate of unempler#nent wa. achieved only in 2008.
D. The number of unemploy-a workers fell in all except four years.

76. The 6" Census 2017 r=r.ort of Fakistan records recorded the highest educational attainment
of all adults aged 2% years ¢ ulder in City A, one of the most educated parts of the country.
The results are given in *he two-way table below.

Level of Edur.ztion Male Female Total
High School 7,535 7,234 14,769
Bachelor’s Degree 17,170 23,455 40,625
Master’s Degree 45,105 41,078 86,183
Professional Degree 23,501 23,405 46,906
Doctoral Degree 16,232 15,817 32,049
Total 109,543 110,989 220,532

(go on to the next page)
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According to the data presented in the table, if you were to choose a person at random out of the
entire population aged 25 years or older in city A, what is the approximate probability that the
person you chose is a man with a doctoral degree (given as a percent)?

2%
7%
28%
51%

o0 >

77. Which number replaces the question mark?

3 1 4
,

7 2 9
( \

NIESIE

CoOowp
AR OO

78. A man completes a journiey in 22 nours. He travels first half of the journey at the rate of 21
km/hr and second ke at the sate of 24 km/hr. Find the total journey in km.

220 km
224 km
230 km
234 km

COow>

79. Three families, P, Q and R, share 480 kg of rice, Q receives twice as much rice as P and R
receives half as much rice as Q. How much rice does family Q gets?

220 kg
230 kg
240 kg
250 kg

0O

(go on to the next page) Page | 21
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80. If 40% of the students in a class have blue eyes, and 20% of those students with blue eyes
have brown hair, then what percent of the original total number of students have brown

hair and blue eyes?

A 4%
B. 8%
C. 16%
D. 20%

This is the end of Mathem~=zics, i.ogic and Data
Anaiysis WICCs.

(go on to the next page) Page | 22



ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER

NOTE

Candidates are not allowed to leave the =xam::iation hall until
all sections of the test paper are comgieted.

If you finish before time s call>d, vau may check your work
on this section only.
Next section is IT Skil's MC Qs

Do not move i the «iext page unless you are asked to do so.

(STOP! Do not move to the next page unless you are asked to do so) Page | 23



ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER

IT Skills M.C.Qs (Total Marks 60)

No. of Questions: 10 (from 81 to 90) 1 Mark Each Time: 10 Minutes
Questions on Page Numbers: 24 To 29 Negative Markings: No

81. In MS Excel, to name a range of cells can be done
A. by selecting range and then entering a name in the ‘Name Box’
B. by selecting range, right click for the pop-up menu and then enter a name using
‘Define Name’
C. through the ‘Name Manager’ under ‘Formulas’ menu
D. All of the above

82. In MS Word, to position a picture in the middle with text wrapping (see below) can be
done

WEH9-3s Document70 - Microsoft Word (Product Activation Failed)
Home Insert Page Layout References Mailings Review View Zotero Nitro Pro @

T

)

| b Q@ % :;{ Compress Pictures m— —— o p— = [
=d Lol 1 F, . L
Change Picture d d d d v | i Picture Ei{ 5t Lb Send Backward ~ '_@ Group
Remove Corrections Color  Artistic a - ‘ ‘ k‘J |
Background - - Fffects~ ‘g Reset Picture ~ T 58 Pirun L yout * - Text~ E"\b Selection Pane ) Rotate

Adjust Picture Styles 7 Arrange Size

2 4 3 i - |2 Align - B
S % Picture Border ﬂ i O Bring Forward = [ Align @4" 81 Heignt: 0.8

Position Wrap Crop = Width: 26"

o SRR G W EREEER ) AR SRS IR Y

Google LLC[5] i+ an.'merican mult: - 21 nal technology company that specializes in Internet-related
services an. . aucts, which inc. «'= online advertising technologies, search engine, cloud computing,

softwe v --.d hardware. " .. considered one of e Big Four technology companies, alongside Amazon,

. Aryioand g I Facebook.[B][7]. Google was
N 1o unded in 1998 by o ry Page and Sergey Brin while they
. were Ph.D. s'=7.s at 0 g I Stanford University in California.

Togethei e, own about 14 percent of its shares and

cont - .5 percent of the J stockholder voting power
*hi o .gh supervoting stock. They incorporated Google as a privately held company on September 4,
1998. An initial public offering {IPO) took place on August 19, 2004, and Google moved to its
headquarters in Mountain View, California, nicknamed the Googleplex. In August 2015, Google
announced plans to reorganize its various interests as a conglomerate called Alphabet Inc. Google is
Alphabet's leading subsidiary and will continue to be the umbrella company for Alphabet's Internet
interests. Sundar Pichal was appointed CEO of Google, replacing Larry Page who became the CEQ of

Alphabet.

I &

Page:1of 1 | Words: 170 | <8 | I3 | [EEEEERC!

8 € am<5 3LIE 966 A O euis
A. by selecting the picture and clicking ‘Position in Middle Center with Square Text
Wrapping’ option in ‘Position’ under ‘Format’ Menu
B. by selecting the picture and clicking ‘Through’ option in ‘Wrap Text’ under
‘Format’ Menu
C. by selecting the picture and clicking ‘In line with Text” option in ‘Position’ under

‘Format’ Menu
D. Bothaandb

You cannot go back to previous section. Go on to the next page. Page | 24
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83. In MS Excel, suppose that the sales in each quarter of year 2019 are inserted in Cells C77
to C80. Which formula if inserted in Cell 82 will compare the sales in quarter 1 and 2, and
return the relevant text “Q1 better than Q2” or “Q2 better than Q1°°?

A. =IF(C77>C78, "Q1 better than Q2","Q2 better than Q1")
B. =IF(C77>C78, "Q2 better than Q1","Q1 better than Q2")
C. =IF(C82, C77>C78, "Q1 better than Q2","Q2 better than Q1")
D. =IF(C82, C77>C78, "Q2 better than Q1","Q1 better than Q2")

84. In MS Word, to position a picture by tightly wrapping with the #+xt (see below) can be

WHd9-0= Document71 - Microsoft Word (Product Activation Failed) Pictite [0k -0
Home  Insert  Pagelayout  Refersnces  Mailings  Review  View  Zotero  NitroPro9 Format o @

Z P Border ©

P o o = B .
- ‘:_.f 2 ﬂ 18 Compress Pictures — — N — — L«Jl = [ Bring Forward I::A\lgn @} 9 seight: 23
b " Eg Change picture =il ‘| p— ‘ ‘ \/9 |E| =l cture Effects ¥ 4 [y send Backward ~ [] Group

Eaﬁ;?r?uend Correft\om CO-IW QFEIEEC-‘ERESEtP\CturE' -f;\’P\cture Layort '])Ltlon }’:,:E IEbie\ectiuﬂ Pane S Rotate - Crvop ‘oz Width: 234
Adjust Pichare SNyles < M Arrange Size ¥
B QA S
- g
O =
¢ T scape was the first company to attempt to capitalize on the
i nascent World  Wide Web"SI'"IIt was founded under the
= name Mosaic Communications Corporation on April 4, 1994,
the brainchild of Jim Clark who had recruited Marc Andreessen as
) co-founder and Kleiner Perkins Caufield & Byersas investors.
= The first meeting between Clark and Andreessen was never truly B
- about a software or service lke Netscape, but more about a
product that was similar to Nintendo 2! Clark recruited other early
_ team members from SGI and NCSA Mosaic. Jim Barksdale came
on board as CEO in January 1995.1'Jim Clark and Marc
o Andreessen originally created a 20-page concept pitch for an
N online gaming network to Nintendo for the Nintendo 64 console,
. but a deal was never reached. Marc Andreessen explains, "If they
had shipped a year earlier, we probably would have done that
yinstead of Netscape "M]l"9]
The company's first product was the web browser, called Mosaic Netscape 0.9, released on October 13,
) 1994. Within four months of its release, it had already taken three-quarters of the browser market '8l It
o became the main browser for Intemet users in such a short time due to its superiority over other
° competition, like Mosaic"®l This browser was subsequently renamed Netscape Navigator, and the
company took the "Netscape" name (coined by employee Greg Sands!'" although it was also a )
N trademark of Cisco Systemsi %) on Movember 14, 19942110 avoid frademark ownership problems M
with NCSA, where the initial Netscape employees had previously created the NCSA Mosaic web browser. :
The Mosaic Netscape web browser did not use any NCSA Mosaic code 2% The internal codename for the o
- comnanv's hrowser was Mazilla which stond for "Mosaie killer" ag the somnanv's anal was tn disnlare )
Pagei10f 1 | Words: 343 | & | & | |@]m§, EE 0% (- {} (+)
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A. by selecting the picture and clicking ‘Tight’ option in ‘Wrap Text’ under ‘Format’
Menu

B. by selecting the picture and clicking ‘Through and Tight’ option in ‘Wrap Text’
under ‘Format’ Menu

C. by selecting the picture and clicking ‘In line with Text’ option in “Poistion” under

‘Format’ Menu
D. All of the above

(Go on to the next page) Page | 25



ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER

85. In MS PowerPoint, changing the color of different objects (see pic below) without altering the
content can be done through

O A Presentationd - Microsoft PowerPaint (Product Activation Failed) - ﬂ
mmme Insert | Design | Tramsitions  Animations  SlideShow  Review  View  NitroProd ae
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e = e & et

Setup Orientation =

Page Setup Themes Background
Slides | Outline X
1
Organization Chart Tt
Organization Chart Tit
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86. In MS PowerPoint, a quick and simple way to rehearse your presentation and gauge if your

content needs more detail or you need to reduce it can be done through

Rehearse Timings
Rehearse Duration

Limit Timings

o w >

Demo Timings

87. A cybercrime in which a target or targets are contacted by email, telephone or text message
by someone posing as a legitimate institution to lure individuals into providing sensitive
data such as personally identifiable information, banking and credit card details, and

passwords is called

Phishing
Blogging
Surfing

o w >

None of the above

88. A discussion or informatiornal weh<:te published on the World Wide Web consisting of

discrete, often informz uiary-s'vie text entries is called a

A. page

B. blog

C. weblog

D. bothbandc

89. A domain that is part of another domain is called

Child domain
Subdomain
Directory

o w >

Subdirectory
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90. An activity of buying or selling of products on online services or over the Internet is called
A. E-Business
B. E-Retail
C. E-Sales
D. E-Commerce

This is the end of IT Skills MCQs.

If you finish before time is called, you may check your work on this section only.
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ESSAY QUESTIONS MUST BE ATTEMPTED ON ESSAY SCRIPT

Essay Questions Time: 30 Minutes

Note: Please attempt essay questions on Essay Script given separately using pen.

Analysis of an Issue [Time allowed: 15 minutes, Total Marks: 5]:

The best way for a society to prepare its young people for leadership in government, industry, or
other fields is by instilling in them a sense of cooperation, not competition.

Write a response in which you discuss the extent to which you agree or disagree with the claim. In
developing and supporting your position, be sure to address the most compelling reasons or
examples that could be used to challenge your position.

Analysis of an Argument [Time allowed: 15 minuscs, To*2! Marks: 5]:

The following is taken from a memo from th& adverticing direcor of the Super Screen Movie
Production Company. “According to a rec~ut report irom o marketing department, during the
past year, fewer people attended Super Screen-p oduced tovies than in any other year. And yet
the percentage of positive reviews by :1iovie raviewers crout specific Super Screen movies actually
increased during the past year. Clearly, t22 conteri's of these reviews are not reaching enough of
our prospective viewers. Thus, the protiem li<:; not with the quality of our movies but with the
public's lack of awareness that mo:*£s of ges.u quality are available. Super Screen should therefore
allocate a greater share of its buuget nex: year to reaching the public through advertising.”

Write a response in wiich ycu aiscuss what questions would need to be answered in order to decide
whether the recommendxiion and the argument on which it is based are reasonable. Be sure to
explain how the answ«.:s to these questions would help to evaluate the recommendation.

NOTE

This is the end of the test.

Candidates are not allowed to leave the examination hall until
they are asked to do so.
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